 (
Write the answers
 (use letters)
 of the math problems in the boxes on the right.
) (
Gilbert is shopping. He has bought: potatoes for 3 dollars, milk for 4.50 dollars, eggs for
 1.75 dollars, chocolate for 1.75. How much does he pay altogether?
) (
How many days has a year?
) (
Is 3 x 15 the same as 15 + 15 + 15?
) (
What
 is 3 x 25?
) (
What
 is 48 + 11
?
) (
1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 10 
= ?
) (
What
 is 52 – 
13 ?
) (
Elvis has 90 stickers. He gives 22 stickers to his friend. How many stickers has he now got?
) (
Ronnie has 45 
dollars
. He wants to give his friend 15 dollars. How many dollars has he left?
) (
Sam has twenty apples. Elvis has three. How many apples do they have?
)
